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ST AEgfA® URIE—2018

T &1 -y (Model Question paper)
HE—12
fawg— varE fasm

AT
af— 3 "2 15 fAee QUi 56 3D

wNenffat & forv am= fAde -
Genral Instructions to the Examinees :
L TRl FdueM e yeHTE W Amid ararda: o |

Candidate must write first his’her Roll No. on the question paper compulsorily.
I w4 e & aifeart 8|
All the questions are compulsory.
I, 9 ugd & IR & 15 Fagfidar § & ford |
Write the answer to each question in the given answer book only.
IV.  5F weHi d a=iRes @vs 8, 99 94 & STk Ub AT 81 ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.
V. UeE uF & 3= 9 3l wurR H fEe usR Bl Jfe /ofar / farmmre 8F
R = AT & U BT 8 HEl A |
Ifthere is any error/difference/contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

[+ ]
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VII.

Section

A

B
C
D

PEG RS
1—13

14—24

286-30

36 JAH g

1

2

3

4

Marks per question
1

2

3

6

yeq W@ 21 e 27 ¥ 20 # 3@ e 2|

There are interal choices in Q Nos. 21 and 27 to 30.
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S ARAAG URIET—2018

T P UE-—97
HET—12
fawa — e fawm
IhHIs CI I LTI 11

- 3 g 15 e qUiih— 56 3AH
rs — A Group -A
ued 1. el 37 sravreeeEl Ridaar & am fafiav 1

Write names of any two interstitial voids

U 2. TG @ [Aodr &1 wiad &30 didl sl g1 &NGT & A fARau |

’
Write the names of any two tactors which effect the solubility of gases.

we 3, 9T ana fafdr 7 At e g sy | 1
Draw a labelled diagram of Bredig’s arc method.

g 4, grRIGII AT ST B BT gA [ | 1

Write the formula to determine magnetic moment.
U9 5. W HBHUT SV W TATRIE Ud W &H JifRieRoT araven g dlel dcdl
& W g | 1

Write names of the elements which show maximum and minimum number of

oxidation states in first transition series.

U 6. Gol HaT dedl bl AMI geldg i fa=m fafau | 1
Write the general electronic configuration of rare earth elements.

Ue 7. B &I SHUGH (Iaew) forter &AM fafaw | 1
Write names of any two ambident ligands.

g 8. Waif—112 &7 43 ferfday | 1
Write the formula of Freon-112

ue 9. WgR—<mF afafmar fafag 1

Write Riemer-Tiemann reaction.
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U 10. AR BT IFAME FF 9 TUPAC M faRag | 1

Wirite the chemical formula and ITUPAC name of Chloral.

T 11, IEADT BT R A IR’ S B3 HT G foIRag | 1
Write the formula to determine ‘number average molecular weight” of polymers.

ge 12, 741 SIERE 3l &1 fibeR weor ga feifiay | 1
Write Fisher projection formula of mesotartric acid.

U 13. I9Id1 & PIg &1 07 farag | 1

Write any two properties of Dyes.
@vs — 9 Group -B
Ue 14, 99 uRafis &1 AWifhd fF ey | T9E B arel W@ aTEE @
JrRfeE stfafbar fefay | 1+1=2
Draw a labelled diagram of Bessemer convertor. Write the chemical reaction of
self reduction involved in it.
g3 15, dve Fgid & IR R 91, SfaTad Ud Gatad &l FHSISY ael ol
IR 4150 | 141=2
Explain conductors, semiconductors and insulators on the basis of band theory
and draw energy diagram.
Ue 16. (1) 3MeTl T el foas # ®IE <1 aron forfvay |
(@) 25°C o0 WR IRAT & M /25 FIa & WERT 919 S| SO |
(R=0.0821 L atm k' mol") 1+1=2
(a) Write any two differences between ideal and non ideal solution.
(b) Calculate the osmotic pressure of M /25 solution of urea at 25" C
temperature.
(R=0.0821 L atm k"' mol")
e 17. (31) M I &1 AHiRhT I 98
(@) SN Hehe & fdera § i &) wg g W IR Febe &I Aldr 391
AT FO7 BT W7 8¢ HROT SIfo] | 1+1=2
(a) Draw a labelled diagram of fuel cell.
(b) Why the blue colour of copper sulphate solution disappears when zinc rod is
dipped in it? Give reason.
U 18, SUTEEATSTS JIATH H M9 7 SFgc GAEddar § ®E U 3 ferfkay
T Y Bl Ueb SaTERYT IoTY | VoVt Vot la=2
Write any one difference between Ionisation and Hydrate isomerism in

[« ]
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coordination compounds and give one example of each.

Uz 19. () FERMGT A FARCH g9+ & TR T forfiay |
(@) vfera &ags KCN & 9 afafhar ovad Ufowe AEs 9910 &,
afs AgCN & ARI Vol JMEHRIEAIES 99N & | HRYT T HIFT |

1+1=2

(a) Write the chemical equation for preparation of Chloretone from Chloroform.
(b) Explain the reason why alkyl halide reacts with KCN forms alkyl cyanide
while when reacts with AgCN forms alkyl isocyanide.
Y3 20. IS BIUR BT AFS Sld 1S fa9d 034 V & d10.1 M HIUR 3199 Jad faers
G DI golagrs &l fawa s dii | (log 10=1) 1+Yo+1A=2

Calculate electrode potential of copper electrode in 0.1 M copper ion solution. If
standard electrode potential of copperis 0.34 V (log 10=1)
7T 21. (31) AR 317, TSI Qe 3T Bl ol H M 3reid Bl
&, WHIEY T

(@) Vfeseizs vd dIeH ¥ o W & a6l B8 Vb e s
ferfRery |

HALdT

(@) wrfeeeze, WiEH @ ga ¥ aifte sfafranie & ey o

(@) wrifcseEs Ud wefcsaEs &1 e &1 aell ®E UF IRRHE
ifafepar Ry | 1+H1=2

(a) Explain why fluoroacetic acid is stronger acidic than iodoacetic acid?

(b) Write any one chemical reaction to differentiate between aldehyde and
ketone.

Or
(a) Explain why formaldehyde is more reactive than acetone?
(b) Write any one chemical reaction to differentiate between formaldehyde and

acetaldehyde.
yed 22, fefafad agaal & thad fafay |
(31) 1ge—6, 6
(@) efem Vot atla=2
Write the monomers of following polymers.
(a) Nylon-6, 6
(b) Terylene
g 23. (31) wfaferesd g faafs wea # va ofaw fafw)
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(@) HRoT ST S THYeT Yo—2—FT—1, 4—STZ3AITH F BT Terid (auet
[aEagd w1 w1 ST 87 1+1=2

(a) Write any one difference between enantiomer and diastereomer

(b) Give reason why the melting point of cis but-2-ene- 1, 4-dioic acid is less than
it’s trans isomer.
U 24. WG 9 AUHNSIS H Bl TP 3R [IR97 Ud UAF BT U Sarsevl (ol |

Vot Vot /ot Va=2
Write any one difference between soap and detergent and write one example of

each.

gvg — 9 Part-C

T 25, {20 T I BT TgER SENfARad usal & SR forfdau |

“PHIATEEl TTaReIT H RIS yrawen & &Uli &1 IR 10° pm A 10° pm BT
g | PrAEE! g™ 31 UBR & B9 8- 1. gawiel 2. 79 foRedl | srenssl i &
e PleATgS] BUif & SMdeT & BRI AT & | §9 B0 BT SEIAIB], Whad
HEAN & | BRI g Yool [1IH & BN WR Jegd T8 P HUI bl Iha- &wdl B
T I ST 8| Saeiel faeras &l T ewal 96 Welie W iR $d 817

@) c1-, PO, O 3MTAT B GFHIA B Whad H Whad & & 93
P F TARIT BT |

(@) Sa=El 9 wafavrEl dlegs § B <7 ofav fofay |

(W) w@uiies & 3T R FHSIT 87 1+1+1=3

Read the given paragraph and write answers of the following questions.

“In colloidal state the range of particles of dispersed phase is 10° pm to 10° pm.
Colloidal solutions are of two types (1) Lyophilic (2) Lyophobic. Stability of colloidal sol
is due to charge on colloid particles. Neutrilization of particles is called coagulation.
Comparision of coagulating power of electrolyte is done on the basis of Hardy and
Schultze’s rule. Protecting capacity of Iyophilic colloid depends upon gold number.”

(a) Arrangethe C1~, PO, CO," ionsin the increasing order of coagulating

capacity for positive sol.
(b) Write any two differences between Lyophilic and Lyophobic colloids.

(c) What do you understand by Gold number?
ue 26. fad T IEOT BT UGS Ehfad yeAl & IR ARy |

“geafel H GgATId W U1 S d1ell PERse M & | I8 Jad 3R Hgdd

[ ]
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ST Sfavensii # ferar 81 gad U H I8 U 8Y SR, ¥eq A B3 HIS Beal |
fArctar & | wa Yo 3 ST 0.4 yfaerd @t Wi # T Suerd B | e e
H SEYGEe 9 UldiaNgs & v0 ¥ Suflerd 81 B | g U6 SEUaNEs &,
T TEFIE 9 WA &I GHM AT 861 8, I8 SNFNIHENIES F U UBR 2 |
Wi U@ dieiRiaNgs & | 39 Tedd IR ST & W= W@iee aidl & | Tedd
UF IR TIHT B & BRUT Sieid T BielT AMEHe & Tl We 3dl 8

(1) 99 PEEEST & YR gagy, MEd O uued W &1 AT JfeEad
& HFERIES gl ue gl €

@) g | Suierd 99 fharde wyg &1 9M faftn, s eRo g8
Tl IfHHE & ART TRIeTT ST B |

(@) vl ¥ SuRed wElERee & ®@I wad g S 9y W WS F31 8
87 UH IATEXT ST | 1+14+1=3

Read the given paragraph and write answers of the following questions.

“Glucose is a carbohydrate found in huge amount in nature. It exists in both free
and combined states. In free state, it is present in ripe grapes, honey and sweet fruits. In
human blood approximately 0.1 % of glucose is present. In combined state, it is present in
form of diasaccharide and polysaccharide. Sucrose is a diasaccharide having glucose and
fructose in equal amount it is a type of oligosaccharide. Starch is a polysacchharide having
glucose but it is tasteless. Glucose is reducing sugar, due to this it gives test with Tollen’s
and Fehling reagent.

(a) Give the type of carbohydrate which on hydrolysis give two or maximum ten
monosaccharide units.

(b) Write the name of functional group present in glucose due to which it gives test
with Tollen’s reagent.

(c) What do we call the carbohydrates present in nature which are not sweet in
taste? Give one example.
ged 27 (31) IRAT & gdel U arelld eIRGN @d8R & Ud e sifafbar aa
HHEATEY |

@) frafafeg e sffEar & B9 % 4 @ B & 989 &%
RTERIfE I e |

_ COOH
(”) CH.__cooH
CI-C-CI+NH, -4 ——> B
POCI,

Unfiled Notes Page 7



(@) TEEESE @ AR WA a9y |
aferar
(@) Ui, Ufeepe UM 1 T H BH ERST B | U IR aifAfhar
TR AR |
(@) F=fafaa womfre sffsar & &7 % 4 91 B $r ugdE @
ARG 3 et |

= NaNO, / HCI + CoH NH,
( f‘H—‘NHJ 273-278k A OH~

(W) Ul &1 AT WRaEd 9 Ry | 1+1+1=3

(a) Explain the weak monoacidic basic nature of urea by giving one chemical
reaction.

(b) Identify and write chemical formula of 4 and B in the following sequence of
chemical reaction.

~ COOH
@ CH, __cooH
CI-C-CI+NH, >4 —> B
Poct,

(c) Draw the resonating structures of nitrobenzene.
Or
(a) Aniline is less basic than alkylamine . Explain by giving one chemical reaction.
(b) Identity and write chemical formula of 4 and B in the following sequence of
chemical reaction.

C H.NH. N, Het At CaH N,
6773 2 273-278k OH—

(c) Draw the resonating structures of aniline.

s — § Part-D
wed 28 (31) I wife & afafhar & uRmm fRay | gud a1 Faaie 4 gaE
ferfe |
(@) smEfraa W fafay |
(F) TH WM Pife AT & T Faai@ 60 s 8| UG URMS Aradl
®T1,/10 af 90T qefed 89 | fhaqr W1 a?
aferar

(a1) WO FHoAT T URENT fARaY | 39T THATE, TEE AR |
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@ = @fe & sfafea & a1 Fodie (k) RS Al (@) @
aeforRgbel (s ) W waEr qui drel Wi forftag |

(@) TF T DI @ fafrar # afier® o Jrsdr 10 9 6 Al diey
&M H T TEHUS & WY T & o o i o B 1+1+2=4

(a) Write definition of zero order reaction. Write unit of its rate constant.
(b) Write Arrhenius equation.

AR T GEn R DSl 5 S & e it . "' How much time will be
required to decompose 1/10" part of its initial concentration.
Or
(a) Write definition of activation energy. Write its S.1. unit .
(b) Write an equation which shows relation between rate constant (& ), initial
concentration («r) and halflife period (7, ,) for zero order reaction.
(c) Calculate rate constant for a zero order reaction in which 2 second time is
required for change in concentration of reactant from 10 to 6 mol L.
TeT 29 (&) XeOF, &1 =T 419Y |
(@) PH, &1 F@eFiE NH, 9 &9 €[l & SR I |
(W) C1, @ A 9 Wig NaOH A 8 drell YRS aifdfbar $1 wHibor
e |
(T) Bl Uae SffRieRE B 2| BT ST | 1H1+H1+H1=4
HAdT

(@) Bri, & E=ET 9912 |

(@) HF &1 g92Fie HC! 9 3ifdid gidr & sror e |

(W) Zn ® 99 HNO, | 81 darell wamafee sifafsbar &1 wfiesor fafay |
(T) STRISTE T T 8 Safe Tehy o | SR ST |

(a) Draw structure of XeOF

(b) Boiling point of PH_ is less than NH_ Give reason

(c) Write an equation of chemical reaction of '/, with hot and concentrated
NaOH
(d) Halogens are strong oxidising agents. Give reason.
Or
(a) Draw structure of Brf-,
(b) Boiling point of /s greater than H('l Give reason.
(c) Write an equation of chemical reaction of Zn with dilute HNO,

(d) Oxygenis a gas while sulphur is solid. Give reason.

[ ]
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ueT 30 (37) Side fafer foer wea &7
(@) vl &1 aerHie Heifril 999 3 9= BIdT 8, HHIgy e
(\) F7 BT § O19 WIATE W AREE I & R At sear 87
AT ®7 IAATTE HHIGIT ST |
(@) TiEd Fed Yoplelal &I g = fafay |
ALdT
(a1) Taferrea e &1 sfafsar foRay |
(@) wHTd @1 el ysHid aHsET |
(4) 1 81 B Sid Bl W 2,50, sulefd § dfed ¢ieggEe &
AT AT FRar & | iR @ IafE W fafan |
() siteliprdicr @1 sreqdiedtt = forRae | 1+1+1+1=4
(a) What do you mean by Ziesel’s method?
(b) Explain why boiling point of ethanol is higher than methoxy methane?
(c) What happens when phenol reacts with concentrated nitric acid? Write chemical
equation of reaction.
(d) Write TUPAC name of'tertiary butyl alcohol.
Or
(a) Write reaction of Williamson’s synthesis.
(b) Explain the acidic nature of phenol

(c) What happen’s when phenol reacts with phthalic anhydride in presence of
concentrated /.50, . Write chemical equation of the reaction.
(d) Write IUPAC name of ortho cresol.
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10.
11.
12.
13.
14.
15.
16.

17.

18.

19.

20.
21.

SIHT T

ICHABI, AIHADIY

P AT NG

fra + AHie

B=

waifdrs # Hiiol, el 6H § Sc 9 Zn
(g )

(n=2)f"" (n=1)d""' ns’

FIS 4 a7

CRCH

Wl I

CCL—CHO 2, 2, 2-TT3aeIRNEME
WEl A

W G

I ST 0T

o + e T wer st
WEl I, il AN

(a1) @I =T A

(@) WE TUET G el SR

(31) fr=F + AHiEA

(@) W& HRU

Tch 3y

TP FETET

(31) w1 v

(@) eI HR

WE AT g TEl 9o §@1% 9ied
(31) W&l HRI

(@) W& THET

[ ]

Unfiled Notes Page 11

Yot
Yot +1
1+1
Latls
Yot
Vatlsa
1
Yatls
Yot

1

1
1+atla

1

1

YIS &l
U =T

11
29
99
167

165
168
175
209
202
255
340
357
372
121
18
34
37
63
55

178
201
193

55

269,254,255




22.

23.

24.

25.

26.

27.

28.

(1) Cr <Co” < PO

(d) g =T 3R

(W) ws1 g

(@) efferiRiGNEs

(4) Sfess=ien

(¥) SrerdNT, B UH FETERIT
(1) ®12 v arfifdar g wRoT
@) A= NH,-CO- NH,

& 4 &=

CO-NH
7
B= CH, C=0
N CO-NH
() St HeEy
3qerar

(@) @1 UF AMfEa T HROT
q)  A=CHNCI

—_—

B=CH,-N,-CH,-NH,

(W) AT HeEA
(1) T i, Hied eflex '
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Votls
Yatla
AT

yan
Yot

Vot+ls

Votla
Yot
v

Votla
Ls
Ya

Yatlsa

UGBS DI
TS |

$52,258,259

332
331
361
354

378
103
97
104
303
301
296
287
288

288

291

279

283

279
71




29.

30.

(a) .l\’ = A(iiﬁu Al

(|) W8I AT + W URUIM ghle Alsd
3eydr

(31) =T ufeT, S A

a

(a) l:s :7
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78

71

79

74
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160
156
155
144
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145
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